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Circle the correct option,M, B, C or D.— \(\W/\(‘ . 1 L . bCL.S@ y lr\etqm_
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In this test, take T = 5 unless otherwise stated.

1.  Ois the center of the circle. Find the area of the circle.

|
A=TT ¢%- 22 =,
A= =T

@ A 44 in.? @ 154 in.2

B 88 in.2 D 616 in.2

2. Ois the center of the circle. Find the area of the circle.
A=TT "
- . -
—;S.J{'.( X g,g X )r:)
T
= 2346
——
— ft? C 11 ft?
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383 f? D 154 fc
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3. The radius of a circle is % in. Find its area.

A 1y L

77 in. C i’

/ 11 . 5 4. 9
56ln. ’ | D 17|n.

A-22 L L /Al -1
7%{LH5<@ |

4. The figure shows a circle with center O. Which of the following
statements are true?

| 1
A=TT-5
=TV-75

H

A" The radius of the circle is 10 in.
@ The area of the circle is 257 in.2.
@j The diameter of the circle passes through the center of the circle

A [ &I C I &Il

B &Il D All of the above

5. The radius of a circle is 6 cm. Find its area. (Take 7 = 3.14)

A 18.84 cm? C 37.68 cm?

B 28.26 cm? o 113.04 cm?
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Name: . Class: Date: points

‘Test Unlt 7 Clrcles

Circle the correct option, A, B, C or D.

1. The figure shows a semicircle and a rectangle. Find the area of the
22

fi . (Take m === | |
igure. (Take = A ‘_h\zi o (GX
= b, _‘§’_C,
O A \
l‘g 2\.%/ e Sein EC a9 5/1 LI , L{
| ¥

3cm f /YZ’%’ 2 k_l—

29.12 cm? C 66.08 cm?

B 41.44 cm? D 115.36 cm?
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2. The figure shows a semicircle and triangle within a square. Find the
area of the shaded part. (Take &t = 3.14)

™
43

fL, M

/-\rt‘?“ Oj\l Sqiaard = |2 ¥ \ 1
} Yy e f

{ s /hké Tflcw\/
12m """"" W 3 7 z‘
b | Z* 2= 3o

A 149.04 m? C 9252m 23 4 bx(or &
B 144m? Q 51.48 m? SC0.57 it
@ ' lqk{ v ? o = (: le, f / (g I L{ ’mz' )
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Refer to the figure below to answer Questions 3 & 4.

The figure shows a smaller circle within another bigger circle.
O is the center of the bigger circle. (Take & = 3.14)

N - -
A(ﬂi&, 2 i e 7 .

Bereo. Sma

3. Find the area of the shaded part.

A 5024 cm? € 20096 cm?
-
2 2 Q\, ’/{\4 “
150.72 cm D enggar  codd

(%
4. Find the perimeter of the shaded part. = C\r("“m chS

’ .:‘ 0
A 2512cm ’@ 7536cm I3

‘—SO ZL o
B 5024cm 15072em G2t
" . SEET =%, lL{wg:
Refer to the figure below to answer Questions 5 & 6. % Z § 1 Z l
The figure shows two quarter circles within a rectangle. (Take = 2‘73
@\r("‘ B —g Se m \ LQ < 14 in. > A i i
© . !i\; , : " T : }Y‘rch, FC‘LJ{E« e W
=22 Ao7. L : ‘ : l
—x[X x‘g, . ; _ :
7 o =Y
- o : - 1
- 7__7,_‘” J,—[ _____________________ = = CI (8 (A
— e ot
5. F|nd the area of the shqded part
21 in. C 98 in.2 1%
i in 77—
B 77 in2 D 175in2? A
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The diameter of a circle is 49 m. Find its area.
A 154m @ sgesm  A=TT ¢ |
B 308m? D 7546 m? =30 24.5

(Take 7 = 3.14)

5in.

~ 415 in
s AR
A 18.625 in.2 @ 19.625 in.?
B 15.7 in2 D 78.5in.2

Find the area of the shaded part.

, 1.2
1283|n.

2.9
B 363|n.
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The figure shows a part of a circle with center O. Find its area.

% of a circle is shaded. The radius of the circle is 7 in.

1in2
C 183|n.

D 154 in2
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Refer to the information below to answer Questions 9 & 10. A TT 3
¢ - L

A circle has a circumference of 13.2 cm.
9. Find the di f the circl D:Q’““@—}
. Find the d_lg_nleltg_l:o the circle. T %‘%Lé
A 2.1 cm C 8.4 cm ‘
5 A =H, 1en
B | 4.2 cm None of the above —

10. Find the area of the circle.

A 3.465 cm? @ 13.86 cm?

B 55.44 cm? D 221.76 cm?
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